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QUESTION 1

Place the stages of the Fundamental Test Process in the usual order (by time).
a) Test closure activities.

b) Analysis and design.

¢) Planning and control.

d) Implementation and execution.

e) Evaluating exit criteria and reporting.
A.c,b,d, e a

B.c,b,e,da

C.c,b,d ae

D.b,c,d, e a

Correct Answer: A

QUESTION 2

An automated air-conditioner is programmed to turn its heating unit on when the temperature falls below 17 and to turn
its refrigeration unit on when the temperature exceeds 26. The air- conditioner is designed to operate at temperatures
between -10 and +40. Given the above specification,the temperature exceeds 26. The air-conditioner is designed to
operate at temperatures between -10 and +407?. Given the above specification, which of the following sets of values
shows that the equivalence patrtition test design technique has been used correctly?

A.-11,-11?, -1, -1?, 18, 18?, 27, 27?, 51517

B.-11, -1172, -1, -1?, 12, 127, 18, 18?, 27, 27?, 51517

C.-11,-117, 18, 18?, 51512

D. -1, -1?, 12, 127, 18, 18?, 27 27?

Correct Answer: A

QUESTION 3

A simple gaming system has been specified as a set of use cases. It has been tested by the supplier and is now ready
for user acceptance testing. The system is assessed as low risk and there is pressure to release the software into the
market as soon as possible. Which of the following test techniques would be most appropriate for this testing?

A. State transition testing and decision testing

ISEB-SWT2 PDF Dumps | ISEB-SWT?2 Practice Test | ISEB-SWT2 Study Guide 2/3


https://www.pass4itsure.com/iseb-swt2.html
https://www.pass4itsure.com/iseb-swt2.html
https://www.pass4itsure.com/iseb-swt2.html

. VCE & PDF https://www.pass4itsure.com/iseb-swt2.html
g 2024 Latest passditsure ISEB-SWT2 PDF and VCE dumps Download

— PassditSure.com

B. Equivalence partitioning and statement testing
C. Use case testing and exploratory testing
D. Decision table testing and exploratory testing

Correct Answer: C

QUESTION 4

Which of the following statements is GENERALLY true of testing?

a) Testing can show the presence of defects.

b) Testing reduces the probability of uncovered defects.

c¢) Testing can show that a previously present defect has been removed.
d) Testing can prove that software is defect free.

A.a,bandc

B.a,bandd

C.a,candd

D.b,candd

Correct Answer: A

QUESTION 5

Which one of the following BEST describes a test control action?
A. Setting a completion date

B. Reporting on poor progress

C. Adding extra test scripts to a test suite

D. Retesting a defect fix

Correct Answer: C
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